
Welk getal ontbreekt t/m 100.000?

Oefening 1

1. 95.992  -     =  10.363

2. 41.512  -     =  14.090

3. 41.312  -     =  30.506

4. 79.871  -     =  49.509

5. 18.714  -     =  1.145

6. 85.128  -     =  20.609

7. 32.402  -     =  17.750

8. 63.034  -     =  11.339

9. 68.731  -     =  11.646

10. 72.159  -     =  2.497

Oefening 2

1. 80.970  -     =  8.873

2. 18.202  -     =  7.025

3. 76.166  -     =  42.287

4. 68.177  -     =  27.305

5. 98.544  -     =  43.909

6. 99.058  -     =  8.695

7. 91.865  -     =  16.951

8. 52.334  -     =  31.925

9. 93.171  -     =  45.028

10. 69.489  -     =  24.430

Oefening 3

1. 44.376  -     =  29.595

2. 77.599  -     =  29.825

3. 70.890  -     =  54.340

4. 97.983  -     =  49.061

5. 74.741  -     =  13.973

6. 67.318  -     =  4.755

7. 69.101  -     =  166

8. 72.590  -     =  35.808

9. 93.291  -     =  2.762

10. 55.328  -     =  42.627

Oefening 4

1. 62.275  -     =  684

2. 61.104  -     =  31.234

3. 73.071  -     =  35.236

4. 32.399  -     =  6.293

5. 97.836  -     =  87.652

6. 65.415  -     =  26.362

7. 71.182  -     =  34.643

8. 84.959  -     =  62.990

9. 42.216  -     =  21.102

10. 84.288  -     =  12.951
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Oefenblad: Welk getal ontbreekt t/m 100.000? |
ANTWOORDEN

Oefening 1

1. 95.992  -  85.629  =  10.363

2. 41.512  -  27.422  =  14.090

3. 41.312  -  10.806  =  30.506

4. 79.871  -  30.362  =  49.509

5. 18.714  -  17.569  =  1.145

6. 85.128  -  64.519  =  20.609

7. 32.402  -  14.652  =  17.750

8. 63.034  -  51.695  =  11.339

9. 68.731  -  57.085  =  11.646

10. 72.159  -  69.662  =  2.497

Oefening 2

1. 80.970  -  72.097  =  8.873

2. 18.202  -  11.177  =  7.025

3. 76.166  -  33.879  =  42.287

4. 68.177  -  40.872  =  27.305

5. 98.544  -  54.635  =  43.909

6. 99.058  -  90.363  =  8.695

7. 91.865  -  74.914  =  16.951

8. 52.334  -  20.409  =  31.925

9. 93.171  -  48.143  =  45.028

10. 69.489  -  45.059  =  24.430

Oefening 3

1. 44.376  -  14.781  =  29.595

2. 77.599  -  47.774  =  29.825

3. 70.890  -  16.550  =  54.340

4. 97.983  -  48.922  =  49.061

5. 74.741  -  60.768  =  13.973

6. 67.318  -  62.563  =  4.755

7. 69.101  -  68.935  =  166

8. 72.590  -  36.782  =  35.808

9. 93.291  -  90.529  =  2.762

10. 55.328  -  12.701  =  42.627

Oefening 4

1. 62.275  -  61.591  =  684

2. 61.104  -  29.870  =  31.234

3. 73.071  -  37.835  =  35.236

4. 32.399  -  26.106  =  6.293

5. 97.836  -  10.184  =  87.652

6. 65.415  -  39.053  =  26.362

7. 71.182  -  36.539  =  34.643

8. 84.959  -  21.969  =  62.990

9. 42.216  -  21.114  =  21.102

10. 84.288  -  71.337  =  12.951
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